
SCHAFFERT MFG. CO. INC. - phone: 800-382-2607 - fax: 308-364-2410

PRESS WHEEL SCRAPER MOUNTING INSTRUCTIONSPRESS WHEEL SCRAPER MOUNTING INSTRUCTIONS
Great Plains

(Read Instructions Completely before Beginning Installation)

71495 rd. 397 - indianola, ne 69034 - phone: 800-382-2607 - fax: 308-364-2410 - sales@schaffert.com - www.schaffert.com - 4 jan 2018

DANGER: When storing or working on the planter or drill always install cylinder stops or place the planter on stands to prevent personal injury or damage to the 
attachments.

Before working on your planter or drill

Mounting Instructions
Before you begin, verify all items listed in the “package contents” table at the right.

Step #1: Bolt scraper to bracket using carriage bolts and whiz nuts. Do not tighten too much 
so that the scraper can be positioned to fit the contour of the tire. You will want 
about 1/4" of gap between the scraper and tire. 
 

Step #2: Remove the bolt from the center of your press wheel and place the scraper 
bracket on the outside of the press wheel. The bracket should run in approximately 
the 11 o’clock position on the outside of the wheel. Replace the bolt and tighten. 
 

Great Plains Gauge Wheel Scraper 
Package Contents (per side)

Item	 QuantityItem	 Quantity
5/16″ x 1″ Carriage Bolt  .  .  .  .  .  .  .  .  .  .  .  .  . 2
5/16″ Whiz Nuts . .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
Scraper .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Scraper Bracket  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Instruction Sheet  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1


